NAME: ______________

HSCI 202 Pathophysiology

Exam 1

October 1, 2012
For each question, choose the ONE best answer.  
1) Which organelle synthesizes proteins?

a) Rough endoplasmic reticulum

b) Smooth endoplasmic reticulum

c) Lysosome

d) Golgi apparatus

e) Mitochondria

2) A cell has an internal K+ concentration of 112 mM and external K+ concentration of 4.2 mM, what is the Nernst potential for K+ for this cell?

a) -52 mV

b) -87 mV

c) -94 mV

d) -142 mV

e) -208 mV 

3) During an action potential in an axon, rapid efflux (outward movement) of ___ is responsible for ___.

a) Sodium, repolarization

b) Sodium, depolarization

c) Potassium, repolarization

d) Potassium, depolarization

e) Calcium, repolarization

4) Which of the following would result in normal anion gap acidosis?

a) Chronic COPD

b) Acute lactic acidosis

c) Ingestion of H2SO4

d) Diabetic ketoacidosis

e) all of these would result in elevated anion gap acidosis

5) Which of the following is MOST likely to result in edema?

a) ADH deficiency
b) Aldosterone deficiency
c) PTH deficiency
d) Albumin deficiency

e) IgE deficiency

6) A patient has the following lab values:

	Na+ 142 mM

K+ 4.7 mM

Cl- 102 mM

bicarb 24 mM

BUN 11 mg/dL

creatinine 1.1 mg/dL

blood glucose 82 mg/dL

Ca++ 12.1  mg/dL

Pi 6.2 mg/dL

Uric acid 5.6 mg/dL
	ALT 32 IU/L

AST 26 IU/L

Alkaline Phosphatase 278 IU/L

GGT 35 IU/L

direct bilirubin 0.1 mg/dL

total bilirubin 0.4 mg/dL

Albumin 4.9 g/dL

total protein 8.0 g/dL

LDH 132 IU/L

total cholesterol 168 mg/dL
	hematocrit 40%

hemoglobin 13 g/dL

reticulocytes 0.9%

MCV 94 fL

INR 1.1

WBC count 8,700 cells/uL

O2-saturation 99%

CO2 37 mmHg

blood pH 7.35

blood pressure 126/87


Which of the following organs or structures is most likely damaged or functioning improperly?

a) liver

b) kidney

c) bone 

d) biliary duct

e) There is no problem, all values are within normal limits

7) That was fun, let’s do another.  A patient has the following lab values:

	Na+ 137 mM

K+ 3.9 mM

Cl- 101 mM

bicarb 24 mM

BUN 14 mg/dL

creatinine 0.9 mg/dL

blood glucose 92 mg/dL

Ca++ 9.7  mg/dL

Pi 4.4 mg/dL

Uric acid 4.2 mg/dL
	ALT 37 IU/L

AST 46 IU/L

Alkaline Phosphatase 67 IU/L

GGT 33 IU/L

direct bilirubin 0.2 mg/dL

total bilirubin 0.8 mg/dL

Albumin 4.3 g/dL

total protein 7.2 g/dL

LDH 101 IU/L

total cholesterol 176 mg/dL
	hematocrit 28%

hemoglobin 9 g/dL

reticulocytes 0.4%

MCV 86 fL

INR 1.9
WBC count 2,700 cells/uL

O2-saturation 99%

CO2 42 mmHg

blood pH 7.42
blood pressure 117/79


Which of the following organs or structures is most likely damaged or functioning improperly?

a) adrenal cortex

b) heart

c) bone marrow

d) liver

e) There is no problem, all values are within normal limits

For questions (8) – (9) choose the letter on the diagram below.  (BE is base excess)
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8) prolonged vomiting A
9) chronic COPD B
10) The class of antibody that crosses the placenta is:

a) IgG.

b) IgM.

c) IgA.

d) IgE.
e) antibody does not cross the placenta
11) Which of the following is NOT an autoimmune disease?

a) Kawasaki’s disease
b) Multiple sclerosis

c) Myasthenia gravis
d) Systemic lupus erythematosus
e) Aspergillosis

12) For which of the following is Staphylococcus aureus NOT a common cause?

a) skin infections

b) toxic shock syndrome

c) necrotizing fasciitis

d) mononucleosis

e) nosocomial infections

13) Which statement concerning viruses is correct?

a) Some viruses function extracellularly

b) Gene therapy uses viruses to deliver genetic material

c) All viruses insert their genetic material into the host DNA

d) All viruses rely on viral ribosomes to make viral protein

e) While viruses are species specific, they are not cell type specific 

14) Which of these results from unbalanced cross-over between homologous chromosomes?
a) Single gene disorder

b) Translocation

c) Deletion

d) Non-disjunction

e) Triploidy

15) Which of the following has the same inheritance pattern as cystic fibrosis?

a) Duchenne muscular dystrophy

b) Sickle cell anemia

c) Huntington disease
d) Li-Fraumeni

e) none of these have the same pattern as cystic fibrosis
16) A couple has two children: one child with an autosomal recessive disease and one who is unaffected. Neither parent is affected by the disease. What is the recurrence risk of this autosomal recessive disease for their next child?

a) 50%

b) 33%

c) 25%

d) Impossible to determine

17) Which of the following cancers has the worst survival rate, based on incidence vs mortality according to the slide from lecture?

a) prostate

b) pancreas

c) uterus

d) colon

e) breast

18) Which of the following is most likely to result from a mutation to a proto-oncogene?

a) Self-sufficiency in growth signals

b) Insensitivity to anti-growth signals

c) Evading apoptosis

d) Limitless replicative potential

e) Tissue invasion and metastasis

19) Which of the following statements is correct?

a) An aldosterone secreting tumor would result in decreased renin

b) Ca++ deficient diet would cause primary hyperparathyroidism

c) Adrenocortical insufficiency (Addison’s) is a cause of hypertension
d) Pheochromocytoma is treated with cortisol
e) Congenital adrenal hyperplasia would contribute to muscle wasting
20) A 54 year-old male with a 30 pack-year history of smoking and small cell lung cancer presents to the oncology outpatient clinic for lab work.  Lab results show serum Na+ = 123 mEq/L, serum osmolality = 276 mOsm/kg, and urine osmolality = 559 mOsm/kg.  Which of the following is this cancer most likely producing?

a) TSH

b) ACTH

c) GH

d) Cortisol

e) ADH

21) A 42-year-old female presents to her physician complaining of muscle weakness and cardiac abnormalities. Laboratory tests indicate that she is hypokalemic. Which of the following could be the cause of her condition?   February 14, 2011 – 2011A test 1
a) Respiratory acidosis

b) Constipation

c) Hypoglycemia

d) Primary hyperaldosteronism

e) None of these disorders present with hypokalemia
22) A 35 year old female develops tingling and weakness of lower extremities.  The weakness continued to progress up her torso and upper extremities resulting in paralysis and the inability to breathe on her own.  Which of the following events is most likely associated with the trigger for this problem?
a) tick bite

b) GI illness
c) sore throat

d) there is no known linkage to triggering event

23) A 33-year-old female presents with secondary amenorrhea, hirsutism, significant weight gain of 15 kg within the past 2 months, acne, significant muscle weakness, recurrent headaches, hair loss, wine-colored striae on the abdomen and extremities, facial roundness, a lump over the back of her neck, and feelings of depression.  She also complains of a persistent headache, and a neuro exam demonstrates bilateral temporal hemianopsia.  Which pattern of lab results is most likely?

a) elevated TSH and elevated T4

b) decreased ACTH and elevated cortisol

c) elevated ACTH and decreased cortisol

d) decreased ACTH and elevated aldosterone

e) elevated ACTH and elevated cortisol

24) A 45-year-old man has a 4 month history of nonfocal, generalized headaches. On physical examination he is found to have a blood pressure of 170/110 mm Hg. Laboratory studies show serum sodium of 146 mmol/L, potassium 2.3 mmol/L, chloride 103 mmol/L, glucose 82 mg/dL, and creatinine 1.2 mg/dL. His plasma renin activity is 0.1 ng/mL/hr (normal 0.5 - 3.3 ng/mL/hr) and his serum aldosterone 65 ng/mL (normal 2 - 9 ng/dL). Which of the following is the most likely cause for his findings?  Feb 22, 2010 - 2010A test 1
a) 21-hydroxylase enzyme deficiency

b) Adrenal cortical adenoma

c) Pituitary adenoma

d) Exogenous corticosteroid administration

e) Small cell lung carcinoma

25) A 51 year old female, K.W. with a past medical history significant for only HTN, presented to the ER with BP 276/196 and left-sided weakness. A CT scan of the head revealed a right basal ganglia hemorrhage with intra-ventricular extension. One day after K.W.’s initial presentation, her urinary output increases, and labs show serum Na+ 162, serum osmolality 315.  Which of the following statements concerning this case is most likely true?
a) increased ICP has damaged the hypothalamus and is preventing appropriate ADH secretion

b) decreased ICP has damaged the hypothalamus and is preventing appropriate ADH secretion

c) increased ICP has damaged the anterior pituitary and is preventing appropriate ADH secretion

d) decreased ICP has damaged the anterior pituitary and is preventing appropriate ADH secretion

e) increased ICP has damaged the hypothalamus and is stimulating excessive ADH secretion
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